abc_notes.gwb - 1/22 - Wed Jan 25 2017 08:53:28

abc_notes.gwb - 2/22 - Wed Jan 25 2017 08:55:25

powered by powered by
ExamVi m@ ExamVi m@
£
A+B =180 180—B =4 8
C
A=-3x+126 A=-3x+79 ]
3
B =5x+48 B=-4x+136 m
What is the value of B? What is the value of x? W
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180—-4=B A+B=90
A=-1x+77 A=-3x+36
B=5x+43 B=-5x+78
What is the value of B? What is the value of B?
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90-4=8B
A=3x+8
B=6x+10

What is the value of x?
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90-B=4
A=2x+31
B =5x+38

What is the value of x?
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A=B
A=3x+8
B=-5x+168

What is the value of 4?

A+B+C=180
A=3x+15
B=—4x+130
C=40

What is the value of 47
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1_BC

2 4B

AB =-3x+23
BC=5x-21

What is the value of 457
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AB _ BC

2 3

AB=2x-2
BC=6x—12

What is the value of BC?
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4B _ 2
BC 3
AB=-3x+33
BC=5—36

‘What is the value of x?
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BC ~ 4B
AB=-2x+32
BC=—6x+63

‘What is the value of x?
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A+B=287
A=1x+24
B=4x+33

What is the value of 4?
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A+59=B
A=2x+59
m = \L..k.. + H\NN

What is the value of x?
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B-52=4
A=—1x+48
B=6x+79
What is the value of B?
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B+C=180-4
A=3x+33
B=4x+83
C=43

What is the value of x?
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Solve for B when x=1 and y=—4:

dx+2y-3x-3y+35=8
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Solve for 4 when x=-1 and y=-5:

dx+5v+Tx -8 =4-25
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Solve for B when x=—7 and y=—1:

—6y—-5x+8=B-13-5%
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Solve for B when x=7 and y = 5:

3x+8-6x=B-37+2
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Solve for C when x=7 and y=09:

6p+13-9x+8y=C—-8&
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Solve for C when x=—7 and y = 4:

Sx—4y+38+4x=C-5y
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